Questions for: PROBLEM SET 06

Name ______________________________    Section ______________

Use your worksheet and graphs to answer the following questions.  

As you answer all of these questions, assume that Susy is able to buy portions of a Book (perhaps Books of shorter length) and fractions of a Concert.  For example, if she spends all but one dollar, Susy might use that dollar to buy either a quarter of a Book or a sixth of a Concert.      

1. If Susy spent all of her allowance on Concerts, how many tickets could she buy and what would her total utility be?   


Concerts = ________

Total utility = ________
2. If instead, Susy spent half of her allowance on Books and half on Concerts, how many of each would she buy and what would her total utility be?  

Number of Books = ________
Number of Concerts = _________

Total utility = ________

Assume from now on that Susy will buy, and consume, some combination of Books and Concerts.  Assume, as before, that if Susy has money left over after buying whole units, she will use it to buy fractions of a unit.  

3. When Susy gets her monthly allowance and runs to the market, the first thing she will do is buy a  _______________.

   Explain.

4. Look at your last data entry in column G.  What does it mean when the marginal utility of a good is negative?

5. Exactly how much of each commodity should Susy buy to maximize her total utility?  What will her total utility be? (Hint: The importance of equating the marginal utility per dollar spent across both goods cannot be overstated.)

Number of Books = ________

Number of Concerts = _______ 



Total utility = _______

6. Return to your workbook, and go to cell H20.  Suppose the price of Concerts decreases to $40.00 due to the impact of the recession on consumer spending.  Make this change in your worksheet.


Observe what happens to your data in cells H6:H16!


Look at your MU PER DOLLAR SPENT graph.  (Print this new graph along with the first three graphs if you need them.)
a. Exactly how much of each commodity should Susy buy to 

maximize her total utility when Books cost $30 and Concerts cost $40?  Explain why Susy’s decision changes.


Number of Books = ________ 
Number of Concerts = ________



b. What will her total utility now be? Is she better off or worse off after the price decrease?  Explain.
GOOD WORK!  DO NOT FORGET TO SAVE THESE CHANGES TO YOUR WORKSHEET.
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